E 0l & Ak =
A R =y
Bu: cRAaR
telr E2Y E (=& J)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
247 7,331,673 5,791,102 1,540,571
= 1,596,800
Al 1,871,990
- 3,862,883
EZ2AE 2 3,759,953 5,230,806 A 1,470,853
Al 217,750
- 3,542,203
o sE 2,274,069 3,411,600 A1,137,531
Al 200,000
- 2,074,069
2 % St=Ald HUIAY 1,983,800 2,523,600 A 539,800
201 et 1,100 1,100 0
01 At 22l 1,100 1,100 0
O 1. get=8 1,100
—HEHEES 50,000 » 43 200
P ONE=DN 25,000 » 6& 150
—ES(&H) 50,000 = 15& 750
401 A& HIZ 201 Y] 1,982,700 2,522,500 A 539,800
01 A& HI 1,950,000 2,520,000 A 570,000
O gds ¢& & ol==Al&E Hl
250,000 * 400m 100,000
O +=gs8 g& & St=AlE FH|
250,000 * 400m 100,000
O 20ls ¢& 2 St=AlE FH
250,000 * 400m 100,000
O Zets ¢g& 2 St=AlE FH
250,000 * 800m 200,000
O osgs & ot=AlE EHl
250,000 * 400m 100,000
O ot=221 JIAH 300,000
—ot==2H Il 1,500m = 200,000 300,000
O &2 &2 20 > 100,000
—E2xE 2 100,000,000 * 14 100,000
O E2AEE2 100,000
—EZANE=S = 90,000
— = o HI 100,000 * 100K £ 10,000
O ot=22H C t 10,000 * 5,000m 50,000
O ot==AlE 2 300,000
—otx=2t2 & 200,000 = 1,500m 300,000
O E2HE B 100,000
— HE FH 100,000
O E2=2F 57 400,000
—SE2=F =74 2,000,000 = 200a 400,000




A R =y
Y T2 AL
oYl E2Y 5 (29l 8)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 Zeltl 30,000 0 30,000
O &2=2x 57 Zalt 30,000
03 Al S THHI 2,700 2,500 200
O AlZH & 20l 2,700
—2%E BALACSHSA, FHERNY, A
&7 & 2,700
DAEDIENE FHEZ HE 200,000 0 200,000
Al 200,000
401 Al HI K 201 I 200,000 0 200,000
Al 200,000
01 A& HI 200,000 0 200,000
O DAEIENY =0 T2 MHE 200,000
Al 200,000
C2EH ¥ FUHEAAY 90,269 0 90,269
201 Let24E] 269 0 269
02 =224l 269 0 269
O +g2¥ 240 ®Ile3
13,430 » 10& = 204 269
401 Al HIZ 201 Y] 90,000 0 90,000
01 A& HI 90,000 0 90,000
O 232 #HY 0X=2X 24AMad 90,000
— 20I1s 792-2901 x| EXI0HL
1,170,000 * 102m = 3/4 89,505
~ W U SII+2E 495
S ATH & 2tel 25,755 38,488 A 12,733
SEHO TAIHE 22 25,755 38,488 A 12,733
201 Let24d] 19,662 29,662 210,000
01 At 22/l 19,662 29,662 A 10,000
O 1. g8t+=2H| 19,662
—SAZAE(eH) I3 202
1,270,500 » 20 Ab = 23] 5,082
~ 2T FH L 2RIy
250,000 = 40E X 10,000
+=8ZEX & A%3 0&8 =2
14,000 = 202 Xl 280
~HEY 568 2T Y3
40,000 * 1400 = 504 2,800
—3A EHEE =88 E2H 23
100,000 * 5H 500
—3A EHEE =& S2H 2t
500,000 = 1CH 500
—SANHERAZ T SAF Y 2 500
SAZelHE & SAF 1,000 = 30004 300
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2N A4

M T 2AA2E

celt TAA B (298 R)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
TAZAHEE S 7 200
203 R =&Y| 1,350 1,350 0
03 Al =X H R =X Y| 1,350 1,350 0
O SAIEY3 L BA, AIMSER =&
1,500,000 = 0.9 1,350
305 HHAa=2S 4,743 7,476 N2,733
01 BHA 23S 4,743 7,476 N2,733
O 20/1s 881-101# X2 32X L2 (&HF22) 3,045
O ¥0l1= 880-352H Al L= (HEs2) 303
O Zot=s 1191281 X L2 (L24!) 1,395
CEXYGAE & I|MLdy e 1,460,129 1,780,718 N 320,589
Al 17,750
- 1,442,379
s Bos SA2 1,325,828 1,657,997 N 332,169
201 2ok Y| 538,047 596,949 58,902
01 AFR2t2l bl 1,542 11,498 N 9,956
O 4. Il=d] 450
—JI28 E4& I 24| 450
- 2RE(SE) 60,000 » 3Y 180
22=2(5t=) 50,000 * 3Y¥ 150
ot A 3f 40,000 = 39 120
O 5. =&l 1,092
— S Z2XYANE Ot =2 S|
7,000 * 3 x 14l x 52 1,092
02 3524l 536,505 585,451 N 48,946
O1. 38322 % HA 536,505
—Jtgs dlle= 368,059
Jlee=s 6,920 * 5kw * 20024 = 12& 83,040
EUNE=2 =)
94.5 = 0.24kw * 3,443 * 10Al2t = 365 285,019
o
—HOotS HIIRD 4,100 * 3,131S * 128 154,046
—HAH2Y NBE
6,000 * 2000 A& * 12€ 14,400
206 M= Hl 154,668 157,447 N2,779
01 X2t 154,668 157,447 N2,779
O JIzs B MM 78,203
— eI 22,000 * 3,443 * 30% 22,724
- 8Z| 750,000 * 2003 * 20% 30,000
— OtH D] 25,000 * 3,443 * 10% 8,608
— SE XD 30,000 * 3,443 * 3% 3,099
-S|+ 100,000 * 3,443 * 3% 10,329




2N A&
Ha: T Z2AIEDE
Sel SRIBAM U IIHLY B CEEEED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
- 248 50,000 * 3,443 * 2% 3,443
O Bots B2 M 70,449
— 3O 22,000 » 3,131 * 30% 20,665
- 8Z| 58,000 * 3,131 * 20% 36,320
— OtF | 25,000 3,131 * 10% 7,828
-S|+ 60,000 * 3,131 * 3% 5,636
O d&axy 84 M 6,016
—2HEEH 1,500,000 * 1090 = 20% 3,000
—NASSEX 150,000 * 100S =* 5% 750
—SN2E 100,000 » 100 * 5% 500
— LEDE & 200,000 * 8835 * 1% 1,766
401 Al Bl 2 0HHI 633,113 903,601 N 270,488
01 A& HI 633,113 903,601 N 270,488
O 2lg 2 ANDIZ2EF 23
3,500,000 * 10S 35,000
O &L Jzs nH 3,500,000 * 20 70,000
O &= Hdz WA 550,000 » 60& 2t 33,000
O Borts & 900,000 * 255 * 33| 67,500
O ks 2ots A 750,000 * 60 45,000
O &E2xY g &4 HE=> 27,408
—-JIgs 3,500,000 * 3,443 * 0.13% 15,666
—HotsS 750,000 * 3,131 * 0.5% 11,742
O 2Eots B4 74,205
— ST PH e 19,000 * 3,131 * 30% 17,847
—&828) WA =2 50,000 * 3,131 * 20% 31,310
—Oot¥Il WX =& 50,000 * 3,131 * 10% 15,655
—SJ7 uUAd =2 100,000 * 3,131 * 3% 9,393
O &= &g wH 5,000,000 = 6H 30,000
O Bots ZAHMAH AlAE &X]
250,000 * 20004 4~ 50,000
O J}zs AN AIAE &AL
2,000,000 = 15CH 30,000
O =g H2AZIAXHE 2 5)liA A 2L 20,000
O LE: FEIIZS LAHAMEY
3,500,000 * 26 91,000
O xd2 &5 SIF M 750,000 * 80 60,000
2 |0 218 JI8&H 2el 62,879 57,599 5,280
201 LEr2 Y| 62,879 57,599 5,280
02 332494l 62,879 57,599 5,280
O1. 232= % HA 17,919
-2 &2 14,839
=223 6,776 = 15kw » 8CH * 12& 9,758




A A&
Ha: T Z2AIEDE
Celt SREUAM U IIFLH B (el:de)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
SUNE=3R= 3,528 = 15kw * 8CH * 12& 5,081
-5 SMe3 22,000 ~ 8Cf * 12& 2,112
— 24D HIIEAN =2 121,000 = 8CH 968
O 3. A& &EHISXIHI 44,960
— =20 SX2e 29|
385,000 *= 80 = 12& 36,960
—&52J| |X 22l 1,000,000 = 8CH 8,000
ZOototLEHIO N S22 (EZAY) 27,050 27,750 AT700
Al 17,750
- 9,300
201 et A | 27,050 27,050 0
Al 17,750
- 9,300
02 3524t 27,050 27,050 0]
O 1. 2222 2 HMA 9,809
— ool BOA MRS 9,523
a2 6,105 = 60kw * 12& 4,396
Al 4,396
AERS
89 * 36kw * 4AI2H * 302 * 12 4,614
Al 4,614
ANERS
89 * 2kw * 24Al2t x 302 * 42 513
Al 513
— ool BOE 222 286
neea 1,320  12€& 16
Al 16
CAER2 1,500 » 15m = 12& 270
Al 270
O 3. A2 & HIKXHI 17,241
— ool B A S X224 17,241
Al 7,941
- 9,300
SN2 I Adl 22l 23,097 23,097 0
201 Bt A H| 2,290 2,290 0
01 AtR 22l bl 2,290 2,290 0
O 1. gEtx=2H| 2,290
—HOlMY gEBel HBALB
190,810 = 12& 2,290
206 M = dl 5,807 5,807 0
01 &2 bl 5,807 5,807 0
O A2 HI|&Hl XYl 5,807
—NASSEX 50,000 * 7645 * 10% 3,820
— &2 S 20,000 * 7645 * 3% 459




A R =y
Y T2 AL
Sel SRIBAM U IIHLY B CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
— LED® & 200,000 » 7645 * 1% 1,528
401 Al HIZ 201 8] 15,000 15,000 0
01 A& HI 15,000 15,000 0
O EAMa dI4d |X2el
50,000 * 300K £ 15,000
20l DototR 20 w2l 20,103 13,103 7,000
201 L2l 20,103 13,103 7,000
02 =224l 20,103 13,103 7,000
O1. 32323 % HA 8,103
-0 #Jes 1,176
2L 6,776 x 10kw * 12 814
MNERS 116 * 12kw * 13AI2F » 20 362
-2l =E2= 2,590
2 2,420 » 128 30
ANERS 1,600 » 80m * 203 2,560
-2+l SHe= 28,050 = 12& 337
-0 242894 160,000 * 253 4,000
O 3. AIE&HIR® Xl 12,000
— g, Mg s E= 12,000
AESHLIEH A2 1,172 1,172 0
201 ¢et24] 1,172 1,172 0
01 At 22l 1,172 1,172 0
O 1. gerxgyl 1,172
—®IlHYl AEBRANY 227
97,650 = 12& 1,172
oot A F H| 3,343,600 348,000 2,995,600
=2 1,596,800
Al 1,596,800
T 150,000
o o F H| 3,343,600 348,000 2,995,600
= 1,596,800
Al 1,596,800
T 150,000
ool == F =S sAY 150,000 0 150,000
401 Al HI L 2 THHI 150,000 0 150,000
01 A& HI 140,000 0 140,000
O ool ==2% A=A (L)AL
S AtHl 140,000
03 Al 2 THHI 10,000 0 10,000
=34 & JIER U 10,000
HEIM2 2 DEZTAE &X X (Zereldfs== 3,193,600 348,000 2,845,600
T HELLEMZAY)




EXN: A4
Ha: olotaEHY|
EHel: HAOLAH| (2 &HH)
. _ = SfE|
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 1,596,800
Al 1,596,800
401 AlEHIZL £ 0HY| 3,193,600 348,000 2,845,600
= 1,596,800
Al 1,596,800
01 Al&H| 3,193,600 348,000 2,845,600
O Zotelol==2& HIEQI M2AY 3,193,600
= 1,596,800
Al 1,596,800
HESAAH (HE W) 228,120 212,296 15,824
Al 57,440
5 170,680
oleddy| (A4 ) 125,540 122,388 3,152
Al 57,440
- 68,100
ol (A4 D) 125,540 122,388 3,152
Al 57,440
- 68,100
101 2124 H] 125,540 122,388 3,152
Al 57,440
- 68,100
03 I HLs22 NHE 125,540 122,388 3,152
O &gl T X ol 125,540
- J=2a2 2,134,220 = 2% * 128 x 1.06 54,295
Al 25,604
- 28,691
— M oHGf 4,800
NESLES (R 40,000 * 2% = 128 960
Al 440
- 520
NELL(BELIE)
60,000 » 1€ * 12& 720
Al 120
- 600
EZ2FE 30,000 » 2 * 128 720
Al 360
- 360
- Sagriy 30,000 * 2 * 12 720
Al 360
- 360
MAXASH 70,000 * 2 « 12& 1,680
Al 840
- 840
— &= 27,569
Jler== 1,182,110 x 2 * 43| x 1.06 10,025
Al 4,449
- 5,576




SN AAD
M HH2IZH(AL)
Sl ey (AL CEEEED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
829 1,182,110 » 2% * 23] * 1.06 5,013
Al 2,025
- 2,988
M= ehetdl
1,182,110 = 298 « 53] = 1.06 12,531
Al 5,937
- 6,594
— =22 54| 10,305
ZFAHZ A 130,000 » 2% * 12& 3,120
Al 1,560
- 1,560
- HE S0 1,418,530 » 298 * 23| 5,675
Al 2,632
T 3,043
A3 754,620 * 24Y 1,510
Al 710
- 800
— 2 &4Hl 100,000 » 29 = 12& 2,400
Al 1,200
- 1,200
— QI = AtHl 50,000 » 2% * 12& 1,200
Al 600
- 600
- zn22+Y 21,909
guaesy
17,371 = 1.5 » 24A1 2+ = 2% » 12& 15,009
Al 6,903
- 8,106
X RSFIE 137,991 x 2% » 25Y 6,900
Al 3,100
- 3,800
— sy SHX& = 300,000 * 2H 600
Al 300
- 300
—AESHEZY 465,330 * 1H * 43| 1,862
— I =l 300,000 * 29H 600
Al 300
- 300
Jl2dul(A4D) 102,580 89,908 12,672
Jl2Zdl(A4n) 102,580 89,908 12,672
201 Let2d]| 17,740 16,588 1,152
01 At 2teltl 17,740 16,588 1,152
O 1. Let=ZH| 8,524
—2N2ZI2+2H| 2,000
—dME2F=EE 324
EX2ON! 15,000 » 15 * 12& 180
VEINA 12,000 * 12 * 12 144
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A R =y

X{ XH -
S =

CEH SR (BH) - NBAY - B2 o A o SSa H RS2
— SALE Xl (A4) 20,000 * 708+ A 1,400
— 2A EY 100,000 ~ 104 * 43| 400
— T2l A2 250,000 * 404 = 43| 4,000
— ARSI EY 200,000  1CH = 23] 400
O 5. 2 9,216
AL N
8,000 * 24Y x 44! x 12& 9,216
202 04| 80,640 69, 120 11,520
01 2LH O HI 80,640 69, 120 11,520
O 2 30|
20,000 *» 24 * 14 x 12& 80,640
203 YR =&H| 4,200 4,200 0
04 ENSHEERFX 4,200 4,200 0
O A& 350,000 » 12& 4,200




